TAKEBRRDEBSRNEMEREE=2") VJHER (BLELEr2—)

1 BB BeEhsRT—4
ZIEIRE (Ba/ke) -
1311 €=100)

134Cs | 137Cs | Cs&t

4818 ND ND ND ND 0.0
4828 D ND ND ND 0.0
4838 ND ND ND ND 0.0
4B48| 23.5 ND ND ND 0.0
4858 ND ND 18 18 0.0
4R68| D ND 21 21 0.0
4R78| 41.0 ND ND ND 0.5
4888 84.0 ND ND ND 0.0
4R98| 88.0 ND ND ND 7.0
48108 91.0 ND ND ND 0.0
48118 113.0] D ND ND 0.0
48128 112.3 | \D ND ND 1.0
4813H| 63.0 ND 19 19 0.0
4R148( 50.0 ND ND ND 0.0
48158 50.0 ND ND ND 6.5
4R168| 55.0 ND ND ND 1.5
48178 10.0 ND 25 25 0.0
4R188]( 38.0 ND 18 18 0.0
48198 30.0 ND 18 18 0.0
48208 31.0 ND ND ND 0.0
48218 19.0 ND ND ND 0.0
48228 30.0 ND ND ND 0.0
4R8238]( 31.0 ND 20 20 0.0
48248 42.0 ND ND ND 0.0
4R258]( 31.0 ND ND ND 0.0
48268 28.0 ND ND ND 12.0
4R/278| 18.0 ND ND ND 0.0
4R288( 21.0 ND 21 21 0.0
48298 21.0 ND ND ND 0.0
4R8308| 18.0 ND ND ND 0.5
ND: R &
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TKEBRRDEBSRSEMEREE=2") VJHER (BLELE2—)

1 BiKBE BahsxT—s
ZIEIRE (Ba/ke) =
1311 (E5)
134Cs | 137Cs | Cs&t
581H| D ND ND ND 0.0
582H| D ND ND ND 0.0
583H| D ND ND ND 0.0
584H| D ND ND ND 0.0
585H| D ND ND ND 0.0
586H| D ND ND ND 0.0
5878 D ND ND ND 54.5
5888 D ND 37 37 41.0
5898 D ND 31 31 0.0
58108 ND 38 38 0.0
58118 W ND 27 27 0.0
58128 ND ND ND 0.0
58138 W ND 29 29 0.0
58148 ND ND ND 1.5
58158 D ND 42 42 1.5
58168 D ND 19 19 0.0
58178 W ND 38 38 0.0
58188 D ND ND ND 0.0
58198 ND 38 38 9.0
58208 D ND 23 23 0.5
58218 D ND 24 24 0.0
58228 D ND 24 24 5.5
58238 ND 23 23 10.0
58248 D ND 30 30 0.0
58258 D ND 37 37 0.0
58268 D ND 24 24 0.0
58278 D ND 30 30 0.0
58288 D ND 23 23 0.0
58298 D ND 21 21 3.0
58308 D ND ND ND 0.0
58318 D ND 28 28 0.0
ND: 4%
XEF: TKEAH

BiKi5JE (R5.5H)

12,000
B (Ba/ke) ..
10,000
8,000
6,000
4,000
2,000
®
g g iigiigiigiigi g 000200 Yo =00 =0 000000 0—0=0"—0-—0-"0 "0 0 0N
0 0O O O O O @O MO O @O O O @O O 0 O O O O O O O O @O O O @O O O WO m
I L T L R O T R TR~ N I ST VI B S B S B
m 1 ! 1! 1 w;m 1 w1 n I I I I DI I I DI DI I DI DI I O I OO O I @I O I @I
n wn wn n [Fp] wn wn n wn uwn wn [Fp] wn wn n [Fp] uwn n [Fp] wn n n
AR
ERE(mm) ==1311 =—@=134Cs 137Cs  =—@=Csit
(B8)

0.0

(mm)

50.0

100.0

150.0

200.0

250.0



T/KERRLESHMNMEPEREET=2) VKR (Bi#tt>r4—) BKERE R5.6A)

1 BKEE #EOEET-—%

ZIEIRE (Ba/ke) _
1311 (E5)

134Cs | 137Cs | Csit
6818| D ND 35 ND 0.0
6828| 18.0 | D 28 28 33.5
6838([ 95.0 | D 29 29 0.0
6848 185.0 | D 67 67 0.0
6858 227.0| D 29 29 0.0
6868 213.0| D 33 33 0.0
6878 174.0| D 31 31 0.0
6H8A]| 139.0| D ND ND 0.5
6898 119.0| D 34 34 41.0
68108| 92.0 16 58 74 0.0
68118]| 141.0 | 21 24 A5 5.5
68128 122.0 | ND 78 78 0.0
68138 78.0 | ND 76 76 5.0
68148 77.0 | ND 55 55 7.5
68158 76.0 | ND 46 16 5.0
68168 51.0 | ND 52 52 31.0
68178 38.0 | ND 84 84 0.0
68188 25.0 | ND 44 44 0.0
68198 32.0 | ND 42 42 0.0
68208 24.0 | ND 33 33 0.0
68218 21.0 | ND 40 40 0.0
68228 18.0 | ND 32 32 4.0
68238( D ND 22 22 10.5
68248 24.0 | ND 50 50 0.0
68258 28.0 | ND 55 55 0.0
68268 34.0 | ND 27 27 0.0
68278 37.0 | ND 22 22 0.5
68288 26.0 | ND 27 27 45.5
68298 22.0 | ND 53 53 5.5
68308 31.0 | ND 92 92 8.5
ND: T#&H

12,000

B (Ba/ke) W

10,000

8,000

6,000

4,000

2,000

N
- ¥ 1 O VW ;N 0 & ¥ 4 o O & ~& O mn 9
m o o N & N N 10§ in O I m § & 8 ®» n & N K& oo

O_
PRLPLLLLLIPLLILLIOLLLO 0L Q0L 0L L
P O PP PP AP TV GV G GV GF G GF gV o

REAH

[$RE(mm) =—6=1311 ==—134Cs 137Cs  —@—=Cs&t
(18 5)

0.0

(mm)

50.0

100.0

150.0

200.0

250.0



TKEBRRDEBSRSEMEREE=2") VJHER (BLELE2—)

1 BRKEBE BEHEKT-5

%1& = (Ba/k
%g MEEE(xg) %ﬁ%
1311 (E5)

134Cs | 137Cs | Cs&t
7A18]| 37.0 ND 76 76 3.0
7RH28| 79.0 ND 56 56 0.0
7A38| 71.0 15 31 46 0.0
7A48]| 78.0 ND 31 31 0.0
7A58| 40.0 ND 29 29 2.5
1TH6H]| 48.0 ND 33 33 0.0
7A78| 30.0 ND 27 27 0.0
7A88]| 49.0 ND 27 27 0.5
798| 162.0 | D 33 33 2.5
7H10H] 238.0 16 40 56 5.0
7118]| 155.0| D 34 34 3.0
7A128| 226.0 | 15 49 64 0.0
78138| 212.0 | D 37 37 0.0
7148|1110 D 30 30 3.0
78158| 101.0| D 29 29 3.0
78168]| 123.0 | ND 32 32 0.0
78178| 101.0| D 34 34 0.0
7A188]| 62.0 ND 38 38 0.0
18198| 58.0 ND 39 39 7.5
7H208]| 60.0 ND 23 23 0.0
18218 52.0 ND 28 28 0.5
7A228| 31.0 ND 19 19 0.0
7H238| 32.0 ND 25 25 0.0
78248 168.0| D 31 31 0.0
78258 126.0 | D 20 20 0.0
78268 128.0| D 22 22 0.0
78278 135.0 ] ND 32 32 3.0
78288 150.0 | D 21 21 0.0
TH29H]| 106.0 18 29 47 2.0
TH308]| 80.0 ND 35 35 0.0
1R318| 82.0 ND 35 35 0.0
ND: 4%
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TAKEBRRDEBSRNEMEREE=2") VJHER (BLELEr2—)

1 KB #anagT—2
%38 =% (Ba/k
- h&ﬁﬁ(xg) %E?
RB | 1311 (128
134Cs | 137Cs | Cs&t
881H]| 70.0 ND 21 21 8.5
8A28| 19.0 ND 38 38 0.0
8A3H| 29.0 ND 29 29 1.0
8A48| 26.0 ND 29 29 0.0
8A58| 28.0 ND 48 48 0.0
8A6H]| 72.0 ND 37 37 0.0
8AT7H| 46.0 ND 20 20 0.0
8A8H| 36.0 ND 27 27 6.0
8898 34.0 ND ND ND 5.0
8R108| 43.0 ND 41 41 0.0
ga11E]| 21.0 ND 32 32 0.0
8a128|[ D ND ND ND 5.0
88138 24.0 ND 25 25 0.0
8A148]| 25.0 ND ND ND 12.5
8A158E|[ D ND 24 24 0.5
8A16E|[ D ND 35 35 0.0
8A17A|[ D ND 22 22 26.0
8A18E|[ D ND 23 23 24.5
8A198([ D 17 56 73 1.5
8A208 ([ D ND 76 76 0.0
8A218]| 23.0 ND 55 55 4.5
8A228( 21.0 ND 49 49 0.0
8A238( D ND 42 42 0.0
8A248( D ND 32 32 0.0
8A258( D ND 30 30 0.0
8A268( D ND 25 25 0.0
8A278| 27.0 ND 20 20 0.0
8A28H( 33.0 ND 29 29 0.0
8A298| 37.0 ND ND ND 5.5
8A30H| 48.0 ND 23 23 0.0
8A31H]| 30.0 ND 42 42 0.0
ND: 1%
XEF: FKELH
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TAKEBRRDEBSRNEMEREE=2") VJHER (BLELEr2—)

1 KB #anagT—2
%38 =% (Ba/k
- RIERE ( 22 g) Bﬁ(;?n)%
RB | 1311 (128
134Cs | 137Cs | Cs&t

9Aa18]| 30.0 ND 38 38 0.0
9A28]| 66.0 ND 30 30 0.0
9H3H] 132.0| ND 27 27 0.0
9A48]|[ 95.0 ND ND ND 30.5
9A58]( 105.0] D 23 23 1.5
9A6E|[ 73.0 ND 34 34 66. 0
9878]| s0.0 ND 70 70 0.0
9A8H]| 63.0 ND 118 118 28.0
9A98]| 52.0 ND 66 66 3.0
9A108]| 70.0 ND 68 68 0.0
9A11A]| 81.0 ND 37 37 0.0
9A128]| 59.0 ND 31 31 19.0
9A138]| 40.0 ND 28 28 2.5
9A148]| 34.0 ND 37 37 0.0
98158 33.0 ND 34 34 25.5
9A16R]| 10.0 ND 22 22 1.0
9A178]| 54.0 ND 53 53 0.0
98188 100.0 | ND 41 41 0.5
98198 98.0 19 26 45 0.0
9A208]| 65.0 ND 32 32 0.0
9A218]| 78.0 ND 38 38 0.0
9A228| 66.0 ND 27 27 0.0
9A238]| 89.0 ND 25 25 21.0
98248 248.0 | ND 48 48 0.0
9A258]| 280.0 | ND 52 52 0.0
98268 243.0 | ND 29 29 0.0
9A278]| 286.0 | 18 37 55 24.0
98288 258.0 | ND 30 30 12.5
982981 134.0 | ND 40 40 0.0
98308 166.0 | ND 19 19 1.5
ND: R &
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TARKERROLESRSFEMEREET=42") D JVHER (RiLHEELEV 2 —)

1 BiKBE BeHSRT—%
#IERE Ba/ke) _
1311 (&B5)

134Cs | 137Cs | Cs&t
10818][ 231.0 ] D 27 27 4.5
10828( 215.0 | D 29 29 0.0
10838][ 129.0 | D 22 22 0.0
10848| 121.0 | D ND ND 4.5
10858][ 127.0 | D ND ND 0.5
10868| 87.0 ND 31 31 0.0
10R78]| 91.0 ND 22 22 0.0
10888 104.0 | D ND ND 0.0
10898 142.0 | D 23 23 17.5
108108 142.0 | D ND ND 0.5
10118 83.0 ND 25 25 0.0
108128 79.0 ND 27 27 0.0
108138 102.0 | D 26 26 0.0
108148]| 59.0 ND 27 27 0.0
108158 99.0 ND 26 26 21.5
108168]| 314.0 | D 23 23 0.0
108178 384.0 | D 37 37 0.0
10818H]| 234.0 | D 30 30 0.0
108198 242.0 | D 22 22 0.0
108208 182.0 | D 34 34 0.0
108218 175.0 | D 28 28 0.0
108228 151.0 | D 29 29 0.0
108238 171.0 | D ND ND 0.0
108248]| 93.0 ND ND ND 0.0
10A25H8]| 73.0 ND ND ND 2.5
108268| 91.0 ND 26 26 0.0
108278 78.0 ND 26 26 0.0
108288 58.0 ND ND ND 0.0
10A298]| 69.0 ND 21 21 0.0
108308]| 52.0 ND ND ND 0.0
10A318]| 35.0 ND ND ND 0.0
ND: F~#&

Bi/KBie (R5.10R)

12,000
7 (Ba/ke) e
10,000
8,000
6,000
4,000
2,000
~N OO N - N ™ n N~ O N 0 ONQOOCD o —
N o o ™M™ NN o « N N N N N NN N o o N N o N o o
0_ -
M M M O M MO M M M M M M M M M M O M O M O M O M M M M O MW m m
B R e B AR B S R TR s B TR T B R (N S S S R TR S S N ST S B
© © 0 6 6 © 0 0 o I @ M M@ @ @ @ I I L T E I I I L K I I I oI
- 4 4 a4 o4 =@ = € < o O O O O O O O O O O o oo o o o o o o o o o
Lo I = D S = D I . R . I . I o I . A . IR . B . B N L T . R . A . B I . B o |
FEA B
BRE(mm) =0=1311 =@=134Cs 137Cs  =@=Csi
(18 5)

0.0

(mm)

50.0

100.0

150.0

200.0

250.0



TAKERRDESRNEMEREETE=42) VJHER (BLtELtr2—)

1 KB #anagT—2
%iERE (Ba/ke) =
1311 (E8)

134Cs | 137Cs | Csit

1M1A18]| 42.0 ND ND ND 0.0
11A28]| 34.0 ND ND ND 1.0
11A38]| 34.0 ND ND ND 0.0
11A48][ 20.0 ND ND ND 0.0
11A5H ND ND ND ND 0.0
11A6H]| 28.0 ND ND ND 1.0
11878 19.0 ND ND ND 16.0
11A8H ND ND 26 26 0.0
11898 ND ND 28 28 0.0
11A108]| 41.0 ND 22 22 0.0
11A118]| 39.0 ND ND ND 0.0
11A128]| 61.0 ND ND ND 11.0
11B138]| 65.0 ND ND ND 0.0
11A148]| 61.0 ND ND ND 4.5
118158]| 46.0 ND ND ND 0.0
11A168]| 258.0 ND ND ND 0.0
11A17H]| 60.0 ND 27 27 16.5
11A188] 186.0 ND 28 28 0.0
118198 326.0 15 51 66 0.0
11H208] 396.0 15 ND 15 6.5
11A218] 4109.0 23 45 68 0.0
11H228] 356.0 17 40 57 0.0
11A238] 369.0 20 22 42 0.0
11H248] 258.0 ND 30 30 0.0
11A258] 213.0 ND 22 22 0.5
11A26H8]| 238.0 ND 26 26 0.0
11A278] 199.0 ND 23 23 0.0
11H288] 120.0 ND ND ND 3.5
11A298] 137.0 ND ND ND 0.5
11A308]| 107.0 ND ND ND 1.0
ND: Fi&H
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TAKERRDESRNEMEREETE=42) VJHER (BLtELtr2—)

1 KB #anagT—2
%iERE (Ba/ke) =
1311 (E8)

134Cs | 137Cs | Csit
12818]| 94.0 ND 21 21 0.0
12A28][ 49.0 ND ND ND 0.0
12A3H| 53.0 ND ND ND 0.0
12A48][ 44.0 ND 21 21 0.0
12858 27.0 ND 20 20 0.0
12A68]| 30.0 ND 22 22 0.0
12878H| 24.0 ND ND ND 0.0
12A8H ND ND ND ND 0.0
12A9H]| 20.0 ND 27 27 0.0
128108 47.0 ND ND ND 0.0
128118]| 61.0 19 ND 19 0.0
12A128]| 45.0 ND ND ND 19.0
128138]| 40.0 ND 23 23 0.0
12A148]| 28.0 ND 20 20 0.0
128158 27.0 ND 25 25 2.5
12A168]| 33.0 ND ND ND 0.5
12A178]| 62.0 ND ND ND 0.0
12A8188]| 77.0 ND 22 22 0.5
12A198]| 73.0 ND ND ND 0.0
12208 43.0 ND ND ND 0.0
12A21H]| 61.0 ND 21 21 0.0
12A228]| 35.0 ND 19 19 0.0
12A238]| 43.0 ND ND ND 0.0
12A248| 43.0 ND ND ND 0.0
12A258]| 51.0 ND ND ND 0.0
12A268| 35.0 ND ND ND 0.0
12A278]| 37.0 ND ND ND 0.0
12H288]| 26.0 ND ND ND 0.0
12A298]| 27.0 ND ND ND 0.0
12A308]| 43.0 ND ND ND 0.0
12A318]| 31.0 ND ND ND 4.5
ND: F°#&
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TAKEBRRDEBSRNEMEREE=2") VJHER (BLELEr2—)

1 BB BeEhsRT—4
ZIEIRE (Ba/ke) -
ﬁﬁ? Cs |%§$§
1311 €=100)
134Cs | 137Cs | Cs&t
1A18| 27.0 ND ND ND 0.0
1A28]| 30.0 ND 21 21 0.0
138 22.0 ND ND ND 2.0
1H48| D ND ND ND 0.0
1A58]| 18.0 ND ND ND 0.0
1A68| D ND ND ND 0.0
178 ND ND ND 0.0
1A8A| D ND ND ND 0.5
1A98| ND ND ND 0.0
1A108| D ND ND ND 0.0
1Al ND ND ND 0.0
1A128| D ND 20 20 0.0
1138 D ND ND ND 0.0
1R148| 22.0 ND 26 26 0.0
1A158]| 32.0 ND ND ND 2.0
1R168]| 22.0 ND ND ND 2.0
18178 D ND ND ND 0.0
1188 22.0 ND ND ND 0.0
18198 D ND ND ND 0.0
1A208| D ND ND ND 1.0
18218 D ND 31 31 0.5
18228 D ND 19 19 4.0
18238| D ND 26 26 0.0
18248 D ND 28 28 0.0
1258 D ND 26 26 4.5
1A268( D 18 ND 18 0.0
1278 D ND 18 18 0.0
1H288]| 25.0 ND 22 22 0.5
1298 30.0 ND ND ND 0.0
18308]| 21.0 ND ND ND 0.0
1H31H| ND ND 22 22 0.0
ND: 1%
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T/HKEBRRLESHMNMEPEREET=42) V7HBR (Biett>r4—) BKERE (R6.2A)

1 BiKBE BeHSRT—%
#IERE Ba/ke) _
1311 (&B5)
134Cs | 137Cs | Cs&t
2818 D ND ND ND 0.0
2828 D ND ND ND 0.0
2A38]| 23.0 ND 20 20 0.0
2848 D ND ND ND 0.0
2858 D ND ND ND 12.0
268 D ND 19 19 3.0
278 D ND 39 39 0.0
2A88|[ D ND 27 27 0.0
2898 D ND 21 21 0.0
28108 D ND 27 27 0.0
28118 WD ND 32 32 0.0
2R128| 19.0 ND 36 36 0.0
2A138][ 20.0 ND 19 19 0.0
28148 D ND ND ND 0.0
28158 D ND 23 23 0.0
2R168| 13.6 ND 20 20 0.0
28178 WD ND 25 25 0.0
28188 M\ ND 21 21 0.0
2A198]| 20.0 ND ND ND 0.0
28208 ND ND 27 27 0.0
28218 WD ND 29 29 19.0
2A228| D ND ND ND 1.0
28238 D ND 46 46 0.0
2A248]| 25.0 ND ND ND 0.0
28258 37.0 ND 22 22 10.0
2A268]| 31.0 ND 26 26 1.0
28278| 28.0 ND 20 20 0.0
2A288 D ND 22 22 0.0
28298 D ND ND ND 0.5
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